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GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1) Temel Gy 31U U9=-U9 UX ATHie SA-amEd: fod |
Candidate must write first his/her Roll No. on the question paper compulsorily.
(2) |t U HE AEE §
All the questions are compulsory.
(3) WS U9 I IR QI TS ITR-YREhT § & ford |
Write the answer to each question in the given answer-book only.
(4) T o9 o = @UE &, 39 9t o IR U 91 &f ford |

For questions having more than one part, the answers to those parts are to be written
together in continuity.

(5) VRIS & el 9 ST TR § ohdl TR ot Jfe / X / FoRTEmIg g+ or fes1 9ron o uee &t
e A |
If there is any error / difference / contradiction in Hindi & English versions of the
question paper, the question of Hindi version should be treated valid.
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(6) T AT 3 U U9
< 1-11 1
g 12-21 3
g9 22 -27 4
T 28 - 30 5
Part Question Nos. Marks Per Question
A 1-11 1
B 12 -21 3
C 22 -27 4
D 28 —30 5

(7) 9% HHE 27 T 30 T SN et & |

There are internal choices in Q. No. 27 to 30.

HIT - A

PART - A

1. 9O g HTferd g o1 AW ffia |

Write the name of hormone secreted by testes.

2. Yo YT § W U fohd gTiaehies qered sht | STt Bl S ' 7

Which harmful substance is deposited in blood due to blood agglutination ?

3. Freon -12 %1 TEREMe ¥ fIRa |

Write chemical formula of Freon — 12.
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4. Teu e forega @ o sotieh 3@ | X &1 A faRan |

ERCIRGE R RE | L&A
RUEERECRC] <RSIl o q
T 37T H SiRE]
X
Write the name of X in the given block diagram of electric power plant. 1
Coal combustion :
or Nuclear or Turbine
solar heat Water Steam —>  and
Generator
plant
X
5. TS SR S9AR0 fohg Tsa | e g 2
In which state Nagarjun Sagar Sanctuary is situated ? 1
6. T&1 ohl Tsh ®Ee I A1 fIRET |
Write the name of one Rabi crop. 1
7. Thd 94 1 TSN 98 HE JA1 8 ¢
Which tree 1s called biodiesel tree ? 1
8. ST ICH o Hel b1 A4 fIRaw |
Write the name of family of tobacco plant. 1
9. yfereft s H o=t R 2
What is ‘hinge’ in antibody molecule ? 1
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10. |7 g4 | 91 T a1 [gA T AT fAfg |

Write the application of IgA found in mother’s milk. 1

11. Th B Freh o AR TR S dTeit Fraeh ¥ & {1371 ol 3T HifT |

Draw magnetic field lines formed around a bar magnet. 1

T -

PART - B

12. gAT fopm shgd 8 7 elteret anfifn o SRt feuel W ue aTel YT Sl guesy |

What is Tsunami ? Explain the effect of global warming on glaciers. 1+2=3

13. 39 hiehdl 1 Tagra feraa afqurfea feran 7 Sfia 3l & gy 1 e & Y= <6l 9|EmsT |

Who proposed the theory of biocentrism ? Explain the Miller’s experiment of origin of

life. 1+2=3

14, uferA g ? SIfdA % ITER, g2t W g g 6 It g8 7
What is Alien ? According to Darwin, how the first organism was originated on Earth ? 1 +2 =3
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15. (31) dict U1 YU hl 918 hl 8IS T 41 (U™ STl 8 7

(9) el H e I 53 <@ 7 fohd gUuT <l 3T fohan STt @ 7
(|) gHfEa ATe =Terehl | deHe &1 Ug- TR HSTl 1 Y9 &1 § ?

(a) Why is paper of yellow colour is pasted on vehicle headlight ?
(b) Which mirror is used in vehicle to see rear view ?
(c) Why there is provision of punishment for not wearing helmet by driver of two

wheelers ? 1+1+1=3

16. BEEHE T o &30 faRgw | ff 9 Siat § 19 & =R 197 814 =1fee 2

Write the symptoms of marasmus disease. Which four properties must found in drinking

water ? 1+2=3

17. frefafea sfufsmanstt o semen T Twemss -
(37) T srfifsean
(&) IerEfiientor srfuferan
(|) (ETay Afufshn

Explain the following reactions with example :
(a) Replacement reaction
(b) Neutralisation reaction

(c) Redox reaction 1+1+1=3
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18. WTehfcieh THTE <1 ATcHE 91 & ? ST <h GV ¥ oR 3T foifa |

What is the meaning of natural resources ? Write the four ways of forest

conservation. 1+2=3

19, Frferfan = gifera B

(31) Sf. gefty 3reft ()  worfees T

@ T (i) sor-fo

(@) . 9= Areved (i)  WRd % 9L T

Match the following :

(A) Dr. Saleem Ali (1) Plastic Surgery

(B)  Sushruta (i)  Embryology

(C)  Dr. Panchanan Maheshwari  (i11) Bird Man of India 1+1+1=3

20. F=faIRed ifireni o IUPAC =4 fafee :
(37) CH,-CH,-CH,—-Br
() CH,=CH-CH,
(@ CH,;-CH,-C=CH
Write [UPAC names of the following compounds :
(@) CH;-CH,-CH,-Br
(b) CH,=CH-CH,

(¢c) CH,—CH,-C=CH 1+1+1=3
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21.  Sa-frefiertor 31afde ¥ 319 1 guea @ ? s 9Hd 9 31 Sfiai o o graes g | gaEmsy |

What do you understand by biodegradable waste ? Plastic is harmful for human and other

organism. Explain. 1+2=3

-9

PART -C

22. (37) HaehT <1 Q1 3-1a feped feafam |
(q) P, Ted & e v & ured fopen T R 2
(") T 3T IcdTesh e o aedfaes 91 fafEu |

(a) Write two improved varieties of maize.
(b) Quinine is obtained from which part of the plant ?

(c) Write the Botanical name of two plants cereals. Bt +1+1+1=4

23. HUSH g IUM H IIeT I3 o IR HRU fIlgu | Augd o yvifaar & =\ <l ueh Ierstn
I aueTSy |

Write the four reasons of selection of Garden pea plant by Mendel. Explain the Mendel’s

Law of Dominance with one example. 2+2=4

24. (31) MY fagra & YR W 37T T &R ohl 31801 Hind qHETSY |
(@) et Fmtor i fos wfea auemsy |

(a) Explain acid and base with example on the basis of Arrhnius Concept.

(b) Explain Micelle formation with diagram. 2+2=4
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25. (31) TarAifena faega uftwer o A 9 B % wea goa fatiy sima hifs |

30 30
/30 \ 30 /30 \

A A A A AAYAAY AAAAY ®
\ 30 [/ \ 30 / B

(&) Topet =TeTes AR H 0.05 TehvE eh 4 frefiundir fagga g yanfed gt 2, @1 39 =Tets ar

T YaTgd 3T shl AT shl TUMET sHITIT |

(a) Calculate equivalent resistance between A and B in following electrical circuit :

w
@)
w
@)

3Q 3Q

. VWV MV

A 30

W
o)

o
®

B

g
|

(b) 4 mA current flows in a conducting wire for 0.05 seconds, then calculate amount of

charge flows in that conducting wire. 2+2=4

26. (31) 5 fopm <t U I%g HI 4 WX SE W o 99 F 63 MU R H moEn Hifdw |
(g = 10 T / AhUE?)

(3) afg T S | 200 T GEEE I T et 50 Heywveg 3 § grft T 7, d Meft B
Tferet STt ST <hIToTT |

(a) Calculate the work done to move an object of 5 kg upto a height of 4 metres.
(g = 10 metre/second?)
(b) If a bullet of mass 200 grams fired from a gun with velocity 50 metres/second, then

find the kinetic energy of the bullet. 2+2=4
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27. Sa-fafaudr aa e 83 9t @ & fou 3w € w4l ol gaesd | Sa-fafauar & g

2 TR T T Ieei@ iU |

YT

feresht sfet o strsraor w1 Sa9-fafaydr w w1 yve gedr @ 7 guesd | Sa-fafagar s
3TTife Hew fafam |

Explain the two essential conditions for biodiversity hot spot. Explain the national efforts

for conservation of biodiversity. 2+2=4
OR

Explain the effect of invasion of foreign species on biodiversity. Write the economic

importance of biodiversity. 2+2=4

qT -

PART - D
28, (31) UM IcESH a3 hi AHIfhd o S8 |

(F) TSN TUTTE o JehRI <! ISR AfEd THSTEY |

AYAT

(31) T Tiedseh i AHTihd o a8 |
(9) Te aferssh o frfie Wil < St 9 S aused |

(a) Draw a labelled diagram of human excretory system.

(b) Explain types of nitrogenous waste with example. 2+3=5
OR

(a) Draw a labelled diagram of human brain.

(b) Explain the structure & functions of different parts of the human brain. 2+3=5
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29. (37) &R YTV HigH hl 15 € HiHAT fIRaw |

() T ot # SR e 31 arfodes 7 ferd WehR witerfdd Bt 8 ¢ ek wfed wuesy |

(@) Frferiad el sl 3 I@d gU TTHIY] 3T  shH | fotfiau

Na, Cs, L1, Rb

YT

(37) TETHIE ATV Giged 6l His gl HiHT faIRan |

(9) TS %1 3T 3T ETTd TRHTY] & SISl A1 BIell & 7

(@) Frafefad el i 3% Ted gU T Tt & e | fafau

F,Li,C, B
(a) Write any two defects of Bohr’s atomic model.

(b) How does metallic character changes on moving top to bottom in a group ? Explain

with reason.
(c) Arrange the following elements in the ascending order of their atomic size :
Na, Cs, Li, Rb 1+2+2=5
OR
(a) Write any two defects of Rutherford’s atomic model.
(b) Why size of cation 1s smaller than its atom ?

(c) Arrange the following elements in the ascending order of their ionization enthalpy.

F,Li,C,B 1+2+2=5
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30. Ueh A <Uul § Ufaferrs ot a1, e@i vt fortor forer sATed Stafer Uk fora 35eh oshal g
‘C’ W TR B | 3Tac U1 o IS < ITANT fARIY | i gdor bl ATaedr & o= aread & ?

YT

HIE ~13 h! T 1 AHITehd =3 AT | 57 <hl THH &A1 T4 g8 TE hl TRETNT SHIfT |

SRIGLGIRIT (ST 3M¥EI) o FHamer # i |1 oiF Yo foha Sat & 7

Draw ray diagram for image formation by concave mirror when the object is placed at
centre of curvature ‘C’. Write any two uses of concave mirror. What does mean with the
magnification by spherical mirrors ?

OR
Draw a labelled diagram of the human eye structure. Define power of accommodation

and visibility range of eye. Which lens is used in remedies of astigmatism? 2+1+1+1=5
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